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Understanding Parabola
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Understanding parts of Parabola
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=TP y2 = Gar
N 1Y Standard equation of Parabola.
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General Equation of Parabola.

ax? + 2huy + by
2 + 2gx + 2fy + c =0

=
O

nar10 ,0)
work 1) If abc + figh-af2-bg2 - ch2 70

alth and -n2= 0 , e = 1



Equation of Parabola in parametric form (t)
-

> condition

For ye = nav => late ,zat)

y
= - 4ax = (-at , 2at) *
n2 = Kay =>> (2at , at

2)

#n=Gay => (zat , -at
?)



Focal chord => chord passing from the

focus of the parabola
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Position of a point P(h,k) with respect to Parabola

k2-49h = ?
> 0 => outside

& = o - on the parabola

ye= Have < O => inside
↑ hahK
kiT



The focus of the parabola (y - 3)2 = 4x is
(a) (-1, -3)
(b) (-1, 3)
(c) (1, -3)
(d) (1, 3)

4a = 4 (h)=(a-h)
a = 1 3) T
z O

O
=

-&
T e&



The equation of the axis of the parabola x* - Ay + 8=0 is
(a) y = 0
(b) y = 2
(c) x = 0
(d) x = 2
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What is the length of the smallest focal chord of the 
parabola y2 = 4ax?
(a) a
(b) 2a
(c) 4а
(d) 8a

latustum
-

=

E



What is the focal distance of any point P(x1,y1) on the 
parabola y2=4ax? 
(a) x1 + y1

(b) X1y1

(c) ax1

(d) a+x1

,
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What is the area of the triangle formed by the
lines joining the vertex of the parabola x2 = 12y to
the end of the latusrectum?
(a) 9 sq units
(b) 12 sq units
(c) 14 sq units
(d) 18 sq units

⑭ =4x3

-T



Equation of the parabola with its vertex at (1,1) and focus 
(3, 1) is
(a) (x-1)2 = 8 (y-1)
(b) (4-1) 2 =8 (x - 3)
(0) (4-1)2 = 8(x -1)
(d) (x - 3)2 = 8 (y - 1)

yea 2 = n(x -1

g

o,



If (0, 6) and (0, 3) are, the vertex and focus of a parabola, 
respectively then its equation is
(a) x2 + 12y = 72
(b) x2 - 12y = 72
(c) y2 - 12х =72
(d) y2 +12x =72

(x-02= -way- b)xz = -yay

-

2) #
22+ 12y = 72-



The equation of directrix (x – 1)2 = 2 (y-2) is
(a) 2y + 3 = 0
(b) 2x +1 = 0
(c) 2y - 3 = 0
(d) 2y - 1 = 0

I &
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↳-
(2) (3)

y=3. Ent= 0



The focal distance of a point on the parabola
y2 = 8x is 4. Its ordinates are
(a) ±1
(b) ± 2
(c) ± 3
(d) ± 4
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